

Number 12 in the second quantization

Boris A. Kupershmidt & Thad S. Morton

University of Tennessee Space Institute, 411 B.H. Goethert Parkway, Tullahoma, TN 37388, USA

We give a quantum cubic representation of $12 = 2 \cdot 2 \cdot 3$.

Theorem 1. For every $n \in \mathbb{Z}_{\geq 4}$, we have:

$$\left([2]_q^\sim\right)^2 [3]_{q^n}^\sim = [1]_q^\sim + [3]_q^\sim + [2n+3]_q^\sim + [2n+1]_q^\sim - \left([2n-1]_q^\sim + [2n-3]_q^\sim\right), \quad (2)$$

where

$$[x]_q^\sim = \frac{q^x - q^{-x}}{q - q^{-1}}$$

is the 2nd quantization of x .

Proof. Since

$$1 + [3]_{q^n}^\sim = 1 + q^2 + 1 + q^{-2} = (q^1 + q^{-1})^2 = ([2]_q^\sim)^2,$$

our (2) becomes:

$$\left([2]_q^\sim\right)^2 \left([3]_{q^n}^\sim - 1\right) \stackrel{?}{=} [2n+1]_q^\sim + [2n+3]_q^\sim - \left([2n-1]_q^\sim + [2n-3]_q^\sim\right). \quad (3)$$

The right side of (3) is:

$$\begin{aligned} & \frac{1}{q - q^{-1}} \left\{ q^{2n+1} - q^{-2n-1} + q^{2n+3} - q^{-2n-3} - q^{2n-1} + q^{1-2n} - q^{2n-3} + q^{3-2n} \right\} \\ &= \frac{1}{q - q^{-1}} \left\{ q^{2n+1}(1 - q^{-4}) + q^{3-2n}(1 - q^{-4}) + q^{2n+3}(1 - q^{-4}) + q^{1-2n}(1 - q^{-4}) \right\} \\ &= \frac{q^{-2}(q^2 - q^{-2})}{q - q^{-1}} \left\{ q^{2n+1} + q^{3-2n} + q^{2n+3} + q^{1-2n} \right\} \\ &= [2]_q^\sim \left\{ q^{2n-1} + q^{1-2n} + q^{2n+1} + q^{-1-2n} \right\} = [2]_q^\sim \left\{ q^{2n-1}(1 + q^2) + q^{-1-2n}(1 + q^2) \right\} \\ &= [2]_q^\sim \left\{ q^{2n-1}q(q^{-1} + q^1) + q^{-1-2n}q(q^{-1} + q^1) \right\} \\ &= [2]_q^\sim [2]_q^\sim \left\{ q^{2n} + q^{-2n} \right\} = [2]_q^\sim [2]_q^\sim [3]_{q^n}^\sim \end{aligned}$$

which is the left side of (3). ■